MAT 161 Test 4 Name f<&

Spring 2016 Q

Show all work for credit purposes.

1. Evaluate the Riemann sum for f(x)=200x—x* on 6 < x <12, with three subintervals, taking the
0 sample points to be the midpoints.
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2. Calculate llmZ (1 +k “) (“) by evaluating the equivalent integral,
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3. Find the area from x =2 to x =4, between the x-axis and the curve } = 2x + Sln(ﬂx)
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4. Find the avera%e value of f(x)=6x+5e¢" on the 1nterva1 [1..3]:
K {
4 »\&f@ww syl ! e
L (:zws*e - (3 *feﬂ
gt ol

\ l
HD



5. Calculate the area bounded by the curves y 0.1x* and y = x. ’)/
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6. A 300-1b. cable is 100 ft. long and hangs vertically from the top of a tall building. How much work is
required to lift the cable to the top of the building?
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7. Find the derivative of F(x) = [sin(cos(6r) +5) dr
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8. Calculate the following.
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a. [[36:x2de b. [cos(x) secz(si#(x) +3)dx |c. £x2(3x3+7)4dx
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